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G = 6.67 10"%cm¥sig, K = me,C’= KTy, = Ch/2nl (le)
1.38" 10 *°g.cm?/s%k h =
6.63" 1072'g.cm?/s M = 4npR%/3 1f
Ty, la
T, »107My P la --dtp =3 1072 My’ (—-d My) 19
Ry
GMy/ R, = C %2 2] (1b)
2 Rp
2-1 .7 Ry Y
#1 #2 #3 #4 #5 #6 #7
M, (g) 10°g 10%g 2x10"%g 10%g 6x10%(3Mg)  10*%g(10°Me) 10°°g
Rp(cm) 1.5x107%  1.5x10™% 3x10™%°  1.5x107 9x10° 1.5x10" 1.5x10%
Tp (K) 0.8x10% 0.8x10% 0.4x10° 8 1.3x107 7x107® 7x10°%
Ty (syrs) 107 10"yrs 8x10%" yrs _ 10*yrs 10%yrs 10%yrs 10%*yrs
ro(glem®)  7x10% 7x10° 2x10 7x10% 4.5x10%" 7x107 7x10%
mg(g)  10° 10 10% 10 1.6x10* 10 10%
ni 1 10% 4x10% 10% 4x10" 10%* 10'#
locm)  3x10%¥  3x10% 6x10™1° 3x10% 1.8x10° 3x10% 3x10%
—dt,(s) 3x10™*s 3x107% 1078 3x107 1.7x107° 3x10° 10%yrs
ne (st 10 105 0.5x10%®  10% 0.17x10° 107 1078
t;(s) 05x10™*  0.5x107% 1072 0.5x107* 3x107° 0.5x10* 0.5x10"
E.(erg) 10" 10° 107 10" 10% 10% 107
t. () 0.6x10™  0.6x10% 0.6x10% 0.6x10™" 0.6x10™ 0.6x10* 0.6x10™
Eﬂ 1020 1039 1042 1050 1057 1066 1080
tp 0.5x107" 9.5x10%  95x10™  5x107 " 2x107° 5x10° 1.33x10"yrs
My R Tp Ty e Mg Mss —dt, Mg =(--d My
1 ni M, mg lg Pn = =1.66"107%g, N, Mg
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dn = (1/ Np)™° =10""cm (3d) 10%°g/cm?®
@d) d, - - ~10%g/cm® 10%g/cm® ~10%g/cm®
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»10%g Mes
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(1b), (1)
PpR2 = const, Doy Dlpy = R/ Ry 2 #I

(42a)
#1 #2 Pp1 = 7x10% Ppz =

7x10° Ry = 1.5x107% (42a) Roz

= 1.5x105cm 1b Mpz = Moo

= 1.012x10%g 1d Mey =

1.173x107%g (41b) Py = Mpom/Msp = Wz1
1.012x10%/1.173x10~* = 0.85x10° # 10¥ me =
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Fe Fy .
: m, =1.66x10%g,

me =9.11x10%g, =-
e = 1.602x10"° C , r G =
6.67x10 cm®/s%g, k = 9.0x10° Nem?%C?,

Fg  Gmyme / r* =6.67x107*x1.67x107** x9.11x10™%/
r’=101x107% r?
. Fe  ke? 17 =0.0x10°  q _ .
Nem?%C?x (1.6x10™°C)¥ r* = 9.0x10° x10°x10%x 2000
(1.6x107°C)%/ r*  =23x107%% r? 2'
p = Fo/ Fy = k €7/ Gmym, =23x107%/101x10°® [2] 2000 4

= 2.3x10% 43a [3]'

p = Fd Fy= 2.3x10%

10% 3c htt p: // v sci encepub. net / acaden a/ aa0207,

N, » 10% [4]
p=FJ/F,
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